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Fill in the blanks.

1. The pen is oboutD cm long.

2. The hammer is aboutDcm long.
3. The nail is aboutDcm long. Question 4 - &

4. The pen is [: than the nail. Ionger
5. The hammer is:] than the pen. |Ongest
6. The nail is C} than the hammer. shorter

7. The hammer is the[ ] shortest

8. The nail is the[ | longer

Conversion of the length.

9. 50 cm =Dchm
10. 9 m 75 cm =[:om
M. 225 cm + 120 cm =[:cm

12, 126 cm — 123 cm =Dcm

13. Kate bought 6 m 50 cm of red ribbon and 8 m 25 cm of

black ribbon for her daughter. What is the total length of ribbon
bought by Kate? B M [: cm
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